
5/2019 (1) (MI) 

G 

1• In SQL, --- functions urc used10 implement calculnuon bused upon uparticular column. 
(Al IN (B) Aggregnte 
(C) ORDER BY (D) BETWEEN

2. Which one of the following is not in the
cau.igory of communication channels ? 
(A) narrow band
(B) light band
( C) broad band
(D) ,oice band

3. V.'hich of the following city bagged the
title ''India's cleanest city" by Swachh
Survekshan - 2019 ? 
(A) Patna
(B) Indore
(C) Kochi
(D) None of the ahove

4. 'J"he sum of all integers between 200 and
800, which is divisible by 9, is
(A) 32967

(B) 32796

(C) 32976

(D) 32769

s. Which President of USA said. 'Pinnt more
wheat, wheat will win the war' ? 
(A) Jefferson 
(B) Roosevelt
(C) George Washington
(D) Wilson

6. lMBEX 2018- 19, bilateral army exercise
between which of the following countries?
(A) India and Maduguscar
(B) India and Maldives
(C) lndiu and Myanmar
(D) None of the ubovc

1 llrll l!.1 m I m1 Bii 11111 11111 ffl HI Ill

l. SQL ii f.mT( �,q TR 3Tifi TfURl �
ifil<lf�d "°� °$ � � 

�!I 
(A) IN (B) Aggregate
(C) ORDER BY (D) BETWEEN

2. f.19�flsinil��mtihul�c#it�
il�t 7
(Al �b

(Bl V<mTh
(Cl �b

(D) �h

3. RJ..ffaf&a ii � � ms� � �-
2019 <iiT "'TI«f "$ w;ra � �" q;i
fflrar-lmftrafl.;.n? 
(A) 'l"l1'T
(B) ¢{ 
(C) �
(D} ��-a� 'rtff

4. 2oo�sooifiil'Rf<f;,.i,ft�q;i�;;i)
9��t
(A) 32967
(B) 32796

(C) 32976
(D) 32769

s. <t:�-�- �f.l;.i��� m ·��
amt,�� !'Jta1Q.•11' ?
(A)�
(B) �
(C) � �q�f�:...,,,:-,:i
(D) �

6. ma:ft'lf � �. lMBEX 2018-19

f.i'-lR:lf&a -if-a�� t .fRf � � ?
(A) 'l'Ra � 4I•MIWi{
(B) ,ma� 4k'i�<(�
(C) 'l'Ra � '4I-l41{
(D) $-if�"'1'(�
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lllfUIJil ''mRHII IIJiillllllllD 1111
7, The Haryona Lol..u\'uktu Act came Into

force in rhc \ edr 
(A) 2005 . (Bl 2007 
(C) 2006 (D) 2004

8. Sa'l)daman 1s the nnc,ent nnme of which
Cit) ?
(A\ Snlidon
(8) S1rso
(C) Sohonn
{D) Sonipo1

This reaction is culled 

{A) Jone's oxidation 

(B) Dru-kin reaction

{C) Erard's reaction 

(D) Chichibabin reaction

J 0. In which year State Reorganisation 
Commission was established by the
Gol'emmenr of India? 

(A) 1947 (B) 1954
cCJ 1952 (DJ 1962 

ll. Nitin ranks eighteenth in a class of
49 s1udenLs. What is his rank from the
lasl ?

(A) 18
(C) 19

(B) 31

(D) 32

12. The equauon of the line parallel to x-axis
1111d passing through 1he origin is 

{A) f = � = i (B) X = y = z

(C) ! = l = ! (D) none of these
I 2 0 

.3 . . 

@
CHO 

Cr01Cl2 ·69. 

� � � <l<lT cm� t ? 

(A} � ,,:ffifffl<ii<UI

(B) ��

(C) mt�

(D) ��-f�H�

JO. lffi(!���qi!f���� 
�.f;hft? 

(A} 1947 (B) 1954

(C} 1952 (D) 1962

11. f.mi:i 49 mm � � cfillf! 'q 18 � � 1:R t
(f)tfu)��lm:i��?

(A) 18 (B) 31

(C} 19 (D) 32
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JIIIIEIIIIIW IIWl'l.l lllfJITWIDffllll 
21. Gundh1 Peace Prize-2018 wus

uwnrded 10 
(A) Vivekanandn Kendra, Kanyakumuri

for rum! development, education and 
deveJopmcm or nn1urnl resources

(Bl Akshuya Putrn Foundation for 
providinJ.! mid-doy mc:ils for 
children across lndia 

(C) Japan's Yohei Sasaknwa for his
contribution in Leprosy eradication

(DJ None of the above 

22. A typical voice signal has a bandwidth of 

(Al 4 KHz (BJ 3 KHz

(Cl 3 GHz (D) 4 Gllz

23. The Hary,ma Municipal Corporntion is
loemed in 
(A) Bhiwnni (Bl Si,·sa 
(C) Ambala (D) Panipa!

24. The Pratapgarh Farms are loca1ed in 
(A) Hisar (B) Jhaijar
(C) Kamal (D) Fatehabad

25. The planes 2x -y + 4z = 5 and 
sx - 2.Sy + I Oz= 6 ore
(A) Perpendicular to coch other
(B) Intersect )'•nxls
(C) Purullel to cuch Olhor

(D) Puu throu{lh ( 0, O, ¾)
l6, Completo I he 8crlo� : 

2, 4, 16, 128,? 

(A) 2041

(C) 204!
(Bl 2046 
(D) 2048

27, Ir du)' ol'lor tomorrow 11 SAtUNll)', whut 
dll)' wu, three du)'M befClro )'OJlcrdu)' ? 

(A) SundA)' (Bl Thumloy 

(CJ Mondi!)' (D) Suturduy

sno19 (ll (Mt) 
........ mfc!= -2018.) �� 2). 'll'41 ,3W"" 

mJ'll?fl'fl? 

(A) ��"''�� �, 4i'41:r•iitl q;) '!IT<fiul

�. fu� ��m'lltr-lT�

�ii;�
(B) 31� 1ffil 'f>l3•.?;�H iii\ 'qRi'I 'll1: ii

.r=ntfulJ.���
q;fR�IBlJ.

(C) �W13""@1ii�>it-rITT-l�futt
= � �{ ee4iicl I iii\

(D) .ii-a��

22. ��t:l!if-tm<{;'I �:s;fi,.,{ __ _
mtt1
(A) 4 KHz (B) 3 KHz.
(C) 3 GHz (D) 4 GHz

23, �I �•j(qj@ijitf�'lflpm�t? 
(A) � (B) fffmt

(C) � (DJ � 

24. � "'"1l � � t ?
(A) ffl (B) �
(C) <rnffi (D) q,�Slill�

25. � 2x - y + 4z = 5 ;iftt

5x - 2.5y + I Oz= 6 � l!Q! t ?
(A) 11;lli ¢ t � \
(B) )'-����mt

(C) 11;lli � t '111Hit'I< I

CD> (o. o. ¾)'fl�•
26, '(1J\'11 'i,llf- 1

2, 4, 16. 128,? 
(A) 2041 (8) 2046
( C) 204, (l)) 2048 

27, 1lfl (Q�)--.�-1'if-
(� �) 111\11 ill�.� L. 

" ffl 

(A) -
,...-�.-ntn?

(C) - (B) �
(D) �
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5/2019 (1) <MI)
28. The clus1ic porcnlinl cncrio s1orcd m nspring of force cons111m k is 

(A) ! mv2 

(8) 1 kit2
(C) f 1oc (D) fmv

29. Which ,�·as lhc first State of India used�lc�tron1c Voting Machine (EVM) for'Otrng Panchayat elections ? 
(A) Rajnsthan
(B) Gujara1
(C) HimnchnJ Pradesh
(D) Hnryana

30. lf .<. means '-', '>' mcnns I+',
•=· means 'x' and ·s· means'+', then what
wouJd be the value of 27 > 81 $ 9 < 6?

(A) 6

(C) 33
(8) 36

{D) 30 

31. Complete the anulogy :

Play : Director; : Newspaper: ?
(A) Owner (8) Manager
(C) Editor (D) Columnist

32. Phelgu Tank is the tourist pince located in
(A) Kaithal (8) PanipUL
(C) Hisar (D) Bhiwani

33. Subhash Chandra Bose Park is located at
(A) Hisar (B) Panipnt
(C) Patwari (D) Ambala

34. In which switching technique, a dedicated
and complete physical connection is
established between two nodes ?
(A) Packet Switching
(B) Message Switching
(C) Circuit Switching
(D) Dara Switching

-6-

1mc111111m1111U1111i,n,
<=-ijmrfgif����,.-28. l�>l'I '<I 

"i@ � k t ?

I f  • l"::rT�I I 

30. � 1<' qiJ � - t > '1"ll '"'1\1\"l� + 1 

, ,_.,_ , ,,.. ,  •= · q;r 'l«!tiif x ••m ' $ • <lil 1'!if€i'!I + l', al 
27>81 $9<6q;JtfR�t? 
(A) 6 (B) 36
(C) 33 (D) 30

31. (-IG<Mdl � �:

"1G'li : �: : tnmm-tr,i : ?

(A) � (B) �
(C) � (D) ��

32. ��. v_q;'Cf!k:l��'R�t 7
(A) � (B) i:rr.fm
(C) fmi: (D) �

33. �\flli � � 'IT<f; � � t 7
( A) furn (B) i:rr;fm
(C) W!Tfi (D) 3lo!@T

34. ���ii. m�t.ft.l�

���,frfaci;���
�t?
(A)��
(B) l'ihl�
(C) ��
(D} �� 

111!111'/ltll�'!li\l'l� 
35. Compll

7. '26. 1 

(A) 1
(C) I

36. The

'2x +

(A) 

(Cl 

37. DI
go 
(A)

(C

38. Ae

� (, 
( 

39. 

40. 

41 

www.et
ay

ari
.co

m

E Tayari www.etayari.com contact@etayari.com

Telegram/etayarigovtjob FB/etayarigovtjob Whatsapp/9728-654321



• •  
+, 

,a) 

• 

1111 ,TlmJIJllffWIHllil!UIUUIIIIIRff 

35. Complete I he series. 
7, 26, 63, J 24, 215, 342,? 
(A) 481 (B) 391
(C) SJ J (D) 42 J

36, The angle between the planes 2x + y + 3:t - 2 = 0 ond x - 2y + S = 0 is

37. 

(A) 0 (B) cos·
1 (½) 

11' (C) 2 CD) cos•I (½)
Dieckman condensation reaction governed by mechanism.
(A) Carbanion {B) Carbocntion
(C) Carbene (D) Free radical

is 

38. Aero India - 2019. the 12•• edition of
lntemational Aerospace and Defence 
Exhibition held in which of the following
city? 
(A) BengaJuru
(B) Mysuru
(C) Chennai
(D) None of rhe above

39. Jn which year Haryanu Tourism
Corporation Ltd. was established ? 
(A) 1968 CB) 1996
(C} J 976 (D) 1966

40. The lowest unit of Panchayati Raj in
Raryana is

{A) Taluk Panchayat (B) Block Punchayat
(C) Gram Panchaya1 (D) Zila Panchayat

41. Puli1zer Prize is an award for achievements
in which of the following field? 
(A) Scientific achievements in the Europe

and USA
(B) Newspaper, magazine and online

joumalisr:n, li_terarure �nd musical
composition m the Unned States 

(C) Sports achievements in the Asia and
Europe

(D) None of the above

.7. 

5/2019 (1) (Ml) 

JS. � � � I 
7, 26. 63. 124. 215,342, ? 

(A) 481 (B) 39 I
(C) 51 J (D) 421 
"""""'2x +y + 3z-2=0afR x -2y +5 =0

36. "'""" 
t ./iii 1'iT � <f<l'I t ?

(A) 0 (B) 

37. 

39. �q,fi\�tflk:tf.Ml{���
�7 
(A) 1968 (B) 1996
(C) I 976 {D) 1966

40. wfti.nvrrif�UGt���
___ !1
(A) � � (B) � �
(C) !111'� (D) ��

41. � � f.ti:.:i�fu11, � if � �
,34�f.mnt���t? 
(A) �am� if �:tilf.titi �
{B) ���if {1'11�1(-lfll 

� am �l•k11$-i 4::iifill\dl �
am • � 

I '<111 t\t'<l 

(C) • am� ii� -34€1�(D) • -ij � 'ifiTf �
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512019 ci) (MI) 111mmim1arn111ium111
42. Serial pon transfers darn seriully __ bi1 42. � tflt � <liT Wfi lfll<l 'R

------
at ::i rime. 

(A) 2
(8) 16
(C) 8
(0) I

4J. The vcloci_1y of a particle moving along the 
x-i1.�1s vane_s _according to the expression
v, = 40 - :l!· . where v is in meter per 
second and t is in seconds. The overage 
acceleration in the time interval t = 0 io 
c = 2s is 
(A) - IO ms·> (8) 40 ms-2 

(C) - 20 ms-1 (D) - 40 ms·>

..... e value of a 1f A= . and 
A , Th . [

cosa -sina
] 

A+ A' = J is sina cosa 

(A) ¼

(C) ½
45. Pandit Neki Ram Sharma concentrntcd his

Nationalist activities in which region of
Haryana?
(A) Kamal
(C) Hisar

(B) Rewoti
(D) Rohcuk

46. Yos Samrut Bobo Romdev wos born ln
which dilHrlct 7
(A) Bhlwunl
(B) M11hendru(!orh
(CJ Reworl 
CD) OurJIICln

fora if;'Ct � f<lHi<1il:ff "Sfilif! t I 
(A) 2

{B) 16

(C) 8
(D) I

43. x-3l��nmFITTfl'l'RWJiqllJ[<fil wr �
v, = 40 - 51' � � � � t, �
v, 1.00:IDa�iil :.rf< l�'lt1�
3IB{@ l = 0 ff l = 2s nqj afrml «HUT "1ll \?
(A) - 10 ms-' (B) 40 ms-'

(C) - 20 ms-' (D) - 40 ms-'

44_ �A= [
c�sa -sino.] �A+ A'= I\,
sina cosa 

<fi a <iii llH t

(A) ¾
(C) ½

rr./2(B) / 2

(D) ¾
45. -tim! Z<fi't Utl � � � {l�qlG"I 1tfftf.l�<i!

qi)��� ah if� fc!ii!T ?
(A) � (B) �
(C) a (D) �

46. tnrfml°ra'C1111T\l'lm'1f'i'T����

1:a;n ?

(A)�
(13) q�•-•llf

CC)�

<P) -
47. Ir I he fr,llowl fl(! ti VO wc.,rdN lll'e 11rrnnsel.l I tl

ulphube1lcol Clrclor, which word will come
In the middle 7

47, 1l'fi �'-f�tlw,nrt��� 11erfa,iq q �fiiffl 
fJin 1ffffl t. m � m � 11w ii • 1

Oruw, R'ilud, �uy, D"ck, W11m Dr11w, Rood, Pluy, B11ek, Won1
(A) Or11w (S) Pluy
(C) Re11d (D) Buck

(I\) Oruw (B) Piny 
(C) Rc11d (D) Bilek

,.1 r nil ,.ri 1111111r,1 mn i,
!1111•

8 NASA 
4 .  

nuclear
the ai 
(Al 

(8) 

(C) l

(D) 

49, lf + 
-me
(Al 

(C) 

50. Fin

51. 

52, 

5 

(A 

(C 

t 
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1�WIQIVIDD�111!11fllffllDOIOO 
-'8· NASA recently planned to launch unmannednucl:ar- pow_ercd drone, Drngonfl . What is

the a,m of this project '? 
Y 

(A) Aims to scorch the ·il,'e 1., . • n I,con
Jupiter 

(B) 1\ims t� search for signs of 
m1crob1al life on Saturn's moon,
T1111n 

(C) Aims to carry the AslTonaut' s to the
Mars

(D) None of che above

-'9- If + means x, x means +, + means -, 
- means x, then 50- 10 x 20 + 5 + 2 is
(A) 520 (8) 490
(C) 5oo (D) None of these

50. Find the missing number.

3 6 2 

5�4 
sG2 s[J2 

::! 3 9 

(A) 15 (B) 17

(C) 16 (D) 18

51. The town which was founded by Flroz
Shah Tughlaq is
(A) Ourugrnm
(C) Puuihabud

(B) Hisar
(D) Agroho

52. Whut wus the rc11son for dcfeu1 of Hnrynnn
wurrlorff during 1 s,1 uprlalni?
(A) Non llVllllllhlllty of loudN��ip
(B) Pnuclty of lll'OlN
(C) No QO=ftpcrutlon from mher

dClmlnlonN 
(P) All tho ollove

53, Blurel ICM( g11nMiMI# In ll'Clllhlll tho 11lkollno 
1olutlnn of prntoln1 with�= 1olu1lon, 

(A) Pyridine (B) CuSO�

(C) Sodium 111-ldo (D) Sodium nltrntc
.p. 

(Cl 
(D) 

� + cfi1 � X. X cfiT 31i +, + qi! 3fU -,
49. 

- cfi1 � xi, m 50 - '° x 20 + s + it 

(A) 520 (B) 490 

(C) 500 (D) ����

so/��ma�, 
I' 

(A) 15 (B) 17

tCJ 16 CD) 18

51. �'!!m�lm1 �'tllfq<, -fl'R __ , I

(A) � (B) -

(C) q;ih11a11c1 (D) •

!2, 1857,m � � !lw!lrn t � • � 1'iT

l!iROl� �? 
(A) ��-
(13) ffi � llm • -:r -
(C) �fvm,rni�lffl1"'!�­
co) JGwrn 11� 

!3, • � it --==-� � � � �
t • "lffl iffl 'ffl\f.l - 11ffll t I
<Al fqfWr-t (B) 
(C) f\\tflZ(l{ � (0)
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5/2019 (1) (l\,f})

54. lfA:[2
·l],a=[5 2] [2 5]3 4 7 .C= 

then matrix Osuch lhat C� - AB : 0 �
(A) [191 110

] [
91 10

] .77 ·44 (B) 
7 4 

(C) [·191 -1
44

10] (O)
[

19 II]
?7 17 14 

55• The SCl of ull i t 
,. defined b 

n cgers under !he operotionY 8 •b=a+b+1· !hen 3-1 is IS 11 group,

(A) 5

(C) -5
(B) 4

(0) -3

56. Western Yamuna Canal is derived f Ya R' rom muna 1ver at which place ?
(A) Bhakra-Nangal (B) Tajewala
(C) Kamal (D) Salhawas

57. The Haryana Slate Police Headquarters is
located in
(A) Ambala (B) Panchkula
(C) Kamal (D) Rohtak

58. In wbich of the following year, !he Imperial
Forest Research Institute was set up al
Dehradun?
(A) 1885
(C) 1895

(B) 1906
(D) 1926

59. Which novel of Charles Dickens
gives information on the impact of
industrialisation on poor?
(A) Oliver Twist (B) Pickwic Papers
(C) Hard Times (D) Germinal

60. A single floppy-disk controller board

supports a ribbon cable. 

(A) 33-wire (B) 30-wire

(C) 2J-wire (D) 13-wire

G 
·10-

1 11111110 m1111Hm 11wn11im1nq 

54. � A=[� �}s=[� !Jc=[� !l 
m� D<!l!T�. -:.rglcD-AB =Ot?

[191 110] (91 10
](A) (B) 7 4 -77 -44

(C) r
-191 -I 10

] (D) [
19 11

] 
77 44 17 14 

5S. a + b = a + b + l tm � � 
• * mf �\ft� <fiT 6!Jilitj4 Q,ofi" � t,
m 3-•qll'J-gTTTT?
(A) 5 (B) 4
(C) -5 (D) -3

S6. �4Wflm��-q��-a

��t?
(A) �-;ri'r@ (B) <11�41{-11
(C) <fiv!IB (D) 61t-'tll416

57. � u;;,i -q;r � :J<iA ,�q ,m@m t ?

(A) � (B) q>q�{-11
(C) � (D) �

ss. f.iy�f«la -q��cflfil $"411\<ta-<R �
� q;) �ii�� 1'Jln v.n ?
(A) 1885 (B) 1906
(C) 1895 (D) 1926

59. � � 1'il � m aq-'<l,e � �
�Mf?ii{;'li:fi(vl � 'Sl'TTCI' � GIHc!il<l � t ?
(A) � � (B) �cfi�cfi �

(C) m � (D) Gtfif•R-1

60. ��-fmif.rm� 1t.R 
�"i:fil�((l•HH�°tl
(A) 33-(!'R (B) 30-im

(C) 21-(!'R (D) 13-im

111!11WW11'11ft'

61- V,

" � 

63, 

64, 

,. 

65. 

6 
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:]. 
t? 

11mtlmiBIIHIUIHJIUI 
61. VARCHAR2 cnn s t ore up tobytes of characters.

(A) 5000
(8) 6000

(C) 4000 (D) 8000
62. How many membe Sabha from H 

rs are sent to Rajyu

63, 

64. 

uryanu? 
(A) 5

(C) 7 (B) 2
(D) 4

The High Co L . h 
urt at ahore was establishedin l e year 

(A) 1915 (B) 1919
(C) 1916 {D) 1918

Slate of democracy in the world in 2018 isreleased by  
(A) Economist Intelligence Unit
(B) Amnesty International
(C) UNICEF
{D) None of the above 

65. Which Article of the Indian Constitution
provides an independent Election
Commission ?
(A) Anicle 356
(C) Article 370

(B) Article 324
(D) Article 320

66. Find the missing number.

594 

? 

(A) JI
(C) 12

(B) 22
(D) 33

67. How many such letters are there in the
word BACKLASH each of which is as
far away from lhe b�gii:ining of the W(?rd
as it is from the begmmng 111 the English
Alphabet?
(A) None
(C) One

(B) Two
(D) Three

5/2019 (1) (Ml) 

��� 
61. VARCHAR2

�<fi'{ffli I

(A) 5000 (B) 6000

(C) 4000 (D) 8000

61. �.)�it����t?

(B) 2
(A) 5

7 (D) 4
(C) 

- ij � ..qi41�4 � � 
63. 

��11<111
(A) 1915 (B) 1919

(C) 1916 (D) 1918

64. 20 ,s ii� ii c'i'lq;a:1 Ji't � � m=ffl

{TU -;;y1f11f?r � ? 

(A) ���
(B) v_q�l-i1 $<-(��1-ki

(C) �
(0) �ili1c1;W�

65. � mtTR q,J � m � u,cfi �
��RHcn«llt 7
(A) � 356 (B) � 324
(C) � 370 (D) � 320

66. �m§l!T�li!i1t

594 198 

'I 66 

(A) .11
(C) 12

(B) 22

(D) 33
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512019 (1) (Mt) 
68 Bh· • . •ndawos 'Wildlife in Which distri ? 

Sanctuary Is shuutcdCt (A) Fandnbnd
(C) Re\var;

(B) Gurgaon
(D) Jhn.ijur

69. Chaose the Word ,q,. "Ordl> in the 
ich 1s lenst like other 

(A) C 
group. 

(C) C�� (B) Piglet
(D) Hireling

70. If A is square 
followin 

. maoix. then which of the g 1s not true ? (A) A+ A' is symmetric(B) A A' is syn,metric 
(C) A - A' is skew symmetric(D) A> is symmetric

71• Number of districts in Haryana State is(A) 22 (B) 24
(C) 23 (DJ 25

72. A coil has an inductance of 53 mH and a
rcsistan�e of0.35fl. If a 12V emf is applied
across the coil, how much energy is stored
in the magnetic field after the current has
built up to its equilibrium value?
(A) 55 J (B) 23 J

(C) 31 J (D) 100 J

73. A aroup (0, •> h111 JO element,, The
minimum number of clement, of O which
are their own Inverse IM
(A) I (8) 0

(C) 2 (0) 9

14, Sonlp111 city IM f11mou1 for which lndu1try ? 
(A) Collon c:lo1h111

CB) Comen1

(C) Cur

(D) Bh:yele

•12·

IIIIIUlillltmlDIIUHiHlmma, 

68. ��al����

;: :�qlilicl (8) �

CC) � (D) �

69. ,.g��""����� �
<liil�t 
(A) � (8) irzT
(C) 4'tl�ilc4<t> (Dl �

70. � A <Pf � t, iTI f.t t-t�f© <i q -a � "1

��t?
(A) A+ A' tl'IWR!t
(B) A A' tl'lWRI t 
(C) A - A' f.liiq tl'lWRI t
(D) Az �t

71. � {Fill' ti � 4il � Fcf;o-ft t ?
(A) 22 CB) 24 
(C) 23 (D) 25

72. ��ii 53 mHcfilV{1JT3fr{0.150cfil
�t I� 12V f.lw,-°i44il4 <!a (emf}
q;) � �m wmn� t, m� wm;
<fiT.'q'R��� °i4eli\4 �ii�

� .. rhmfu1 mit t 7
(A) 55 J
(C) 3 I J

(B) 23 J
(D) 100 J

73. � (0. •)-q l0�11 G�'lffl11fi'T�
m � � t �,
(A) I (B) 0
(C) 2 (D) 9

74, 41",4\qn � � 1m • � lffq t ? 
(A) '1ft'ffl

(B) �

(C) �

(D) '11{4ie,

Change 
l&nSC: 

75, 

( 
(l 

Choo 
scnte 

76. 

Fi 
th 
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English l.onguou

Change the following scntc . . nee 1n simple presenttense: ' 

75. They arc playing cricket.
(A) They ha,e played cricket
(B) They played cricket
(C) They play cricket
(D) They have been playing cricket

Choose the correct indirect fol111 of the following
sentence from the given options :

76. She said "The earth goes round the sun".
(A) She told that the earth go round the

sun 
(B) She said that the earth going round the

sun
(C) She �uid tha1 che earth goes round

the sun
(D) She said that the earth has gone round

the sun

Fill in the blank with appropriate word from 
the options 

77. You have been traveling all day. You

be very ti red. 

{A) can 

(B) must have

(C) must

(D) could

78. I have lost one of my gloves. I---­

dropped it somewhere.

(A) must

(B) must have

(C) could

(D) would
.13. 

Choose the correct word 10 
S/2019 (1) (Ml)

fill in the blank:

79. \Ve musl not violate the of 

lnw.
(Al Cunons

(B) Cnneons

(C) Cannons

(D) Cenons

Fill in the blanks with appropriate phrase :

80. The robbers ---- the defenceless

lrtlvellers.

(A) sec out

(B) set upon

{C) make out 

(0) set off

h" h Choose the part of the following sentences w IC 

has an error : 

81. Our happiness or our sorrow is largely due

to our own actions.

(A) Our happiness or our sorrow

(B) due to our own actions

(C) is largely

(D) no error

Use appropriate linker to fill in the blank:

82. He has neither attended the meeting,
___ has he sent a message.

(A) or

(B) nor

(C) but

(D) yet
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S/2019 (1) (MI)

fEft� 
83. 

. . 
�+�::�•� mtit I 

(A) <tltf
(B) �
(C) n,,r
(D) �

8�. ��: 

at) �'@Ira en)� 

3iT) �lllmi is)� 

�) Rlllmi Tl)� 

{) "'sJl1% wrrn li) i_t. -"Ott

,3J 3iT l 1
(A) Tl cfi l§ 

(B) Tl li cfi lsf 

(C) Tl lsf cfi li

(D) 7T cfi q lsf

85. ·� 3Wl'�cfillf�� 1
1 

��-ij

R<ilcl liilif; � t
(A) �
{B) 3TTll"
(C) �
(D) qiJTf

86. ':r-fm' w mG lf � w<ft 3liwf t

(A) T<l
{B) �
(C) 
(D) �

G 
' •14-

l!EI I 1m1 nm11m1 lflUIIIIIIIOIU�

87. 
. t 

•�• � 7'it ,:naa1.!l<fi mil 

88. 

89. 

90. 

(A) �
(B) �
(C)
(D) 

��: 

ai) � -.;i;) ��cRI� 

3iT) <ffl?fr-r cf;@ '9) � � � f.l;m �

�) 'ifci"4i<fili:'i Tl) � 1«qciT (_ 

3i 3n 

(A) cfi \9 Tl 

(B) l§ Tl 

(C) � q; Tf 

(D) TT cfi \SI

f.li-.:i�f©d -q � � m � � � � 
iRlt? 

(A) 'imif

(B) �
{C) �
(D) tl<R

� � 'flt-mT ·�· <fiT q4f.ic11..,ft � t ?
(A) fuq-

(B) cpd

(C) �
(D) �
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